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SH: RIRT D

Hu: A=A D
S9l: DB SIRMHIA W CERED
SA - BB B () - MM - BES Ol &t o San HmEET

SSHQ JIIESZ2AHEE YEFA 12,565 12,565 0
202 O4dl 2,565 2,565 0
01 = LH YI 2,565 2,565 0

IIFZAESE SR 04 2,565
301 LEEAZ 10,000 10,000 0
12 JIEtE4 S 10,000 10,000 0

M8 oI H 10,000
GEALR 38 XA 54,752 52,150 2,602

= 13,750

Al 41,002
101 @14l 54,752 52,150 2,602

= 13,750

Al 41,002
03 RIAHAZZ2RHE > 54,752 52,150 2,602

OiADE PIEX oy 54,752

-JleEs 2,474,900 x12& 29,699

= 7,458

Al 22,241

-E2d 2,474 ,900& x0.5%23] 2,475

- 621

Al 1,854

-ZEF O 2,474,900 *0.6*23| 2,970

= 746

Al 2,224

-= &l 140,000& =128 1,680

2 422

Al 1,258

-wEE A 50,000& x12& 600

= 150

Al 450

-hEsE 30,000& 128 360

= 91

Al 269

I DN R = 30,0002 x12& 360

= 91

Al 269

-SclFdsE 10,000& =128 120

= 30

Al 90

“A2H R 2R 20,8803 *20Al 2t 128 5,012

= 1,259

Al 3,753

-FY2RE 167,040& 12 2,005

= 503

Al 1,502

- JtE &HHI 111,360& 15 1,671




A UAXH D
Hu: JASA AT
Selr DB QBMHIA B EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 420
Al 1,251
-BE= 650,000& »12& 7,800
= 1,959
Al 5,841
EE HHAYSR =2 13,152 18,912 A5,760
201 2et24E] 13,152 13,152 0
01 At 22l 12,000 12,000 0
MR det=ZHl 1,000,000& 122 12,000
02 =224l 1,162 1,152 0
Ha RPSHEAMHA RSERS
3,2003 +30H «128 1,152
ANESELR AAG 78,500 76,970 1,530
201 Let24d] 78,500 71,970 6,530
01 At 22l 28,500 11,970 16,530
A ALOTAY 9,000
ZEJIAHBA S 22 =S4 3,000
ASAEEZS AH M 6603 x25,0000H 16,500
02 =224l 50,000 60,000 A 10,000
fEgs & gER 50,000
JIIE2A SEYR =2 54,001 0 54,001
= 54,001
201 et 36,721 0 36,721
= 36,721
01 At 22l 36,721 0 36,721
IISSAASE 2 =4 L2 36,721
= 36,721
202 O4dl 17,280 0 17,280
= 17,280
01 = LH 4 Hi 17,280 0 17,280
IIF2AESE B2 =& bl 17,280
= 17,280
A2 290,300 280,379 9,921
= 68,500
< 3,000
Al 218,800
SEHQ EXl2el 206,300 182,500 23,800
= 68,500
Al 137,800
HEHIE HEH ZA 16,000 10,000 6,000
201 ¢er24| 15,000 8,000 7,000
01 At 22l 15,000 8,000 7,000
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SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
HEtHI 2 THANY L 2Z2HEI =42 10,000
HERESZ2 SSAEXNI ES =2 5,000
202 o4 | 1,000 2,000 A 1,000
01 2L I 1,000 2,000 A 1,000
WSl HAENEZA 222
20,000& » 1 x50 1,000
ME Z2A X = A 190,300 172,500 17,800
= 68,500
Al 121,800
201 et d| 184,300 165,000 19,300
= 66,340
Al 117,960
01 AFR 2t 2| H| 161,300 146,000 15,300
NEZ2AIXIF EAF G2 161,300
= 58,060
Al 103,240
02 Z2=2=24%4| 23,000 19,000 4,000
HESAXNIN Z2ESKNE 2ER2 23,000
= 8,280
Al 14,720
202 044l 6,000 7,500 A 1,500
= 2,160
Al 3,840
01 2L I 6,000 7,500 A 1,500
HEZBAXIN EXNELEERA G2FKX 6,000
= 2,160
Al 3,840
ANESEANGEFA 84,000 97,879 N 13,879
o=t 3,000
Al 81,000
NEB2 22 74,000 64,000 10,000
201 Bt 50,000 40,000 10,000
01 AP 22| H| 50,000 40,000 10,000
SEEMNE HE SHE2 10,000
NE=2k JIZ=H ZAF L EH =42 40,000
202 044l 4,000 4,000 0
01 20l bl 4,000 4,000 0
=22 A & EXO0IESK & X EQ 4,000
207 &1 2yl 20,000 20,000 0
02 & AHJH EHH| 20,000 20,000 0
ARXNESA HAS AL 20,000
NEIEE NMASKH S HE 10,000 0 10,000
= 3,000
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Al 7,000

201 et A | 10,000 0 10,000
= 3,000
Al 7,000

01 At 22l ] 10,000 0 10,000
NEINEE NASKH S0 B8 S| 10,000
o= 3,000
Al 7,000

NESE RS RO RS- ] 2,713,936 1,104, 140 1,609,796
= 708,993
Al 2,004,943

DHSHMOXNEHHAH S 2,713,936 1,104, 140 1,609,796
= 708,993
Al 2,004,943

NEEAIALE =& 708,993 463,027 245,966
= 708,993

201 LBt Y| 708,993 463,027 245,966
= 708,993

01 At 22l ] 708,993 463,027 245,966
KNETHEALAIY = &k d| 678,993
= 678,993
NEETHEAAIY 2| 30,000
= 30,000

INESHUEYN PN E) 2,004,943 641,113 1,363,830

201 et A | 81,119 178,113 N 96,994

01 At 22l bl 71,119 172,738 A 101,619
AFZSUE ZAIALE AHH| 22,010
AFSUE HEWXNE HH &= 37,109
220l FUEHT FAHEY| 5,000
RS Y 2,000
KEMEAAY LBt SH| 5,000

02 =294l 10,000 5,375 4,625
NEMEAMAYE SHRE 22 10,000

202 04| 6,000 6,000 0

01 2L Y| 6,000 6,000 0
KNEMEA SR=X Y] 6,000

301 et M= 1,917,824 457,000 1,460,824

12 JIEtE &2 1,917,824 457,000 1,460,824
NETHEAAIYE &3 1,917,824

NEEE 22 900,031 463,597 436,434
& 19,000
Al 881,031
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A XA
B 1My zel
Chelr 2 FA 2el (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
AOLEKAIS & SE28 ANEE 23
46,0003 123 «5CH 2,760
202 O4dl 3,000 3,000 0
01 = LHA YI 3,000 3,000 0
SEHEFAMYE EAEE 20,0003 x3Y x50 3,000
308 XXIEtH S0l A 17,724 16,460 1,264
N 3IN2SUHUS3 LS A I 17,724 16,460 1,264
INFAZEANLAE SN2 17,724
401 AIEHIZ 28I 60,700 40,000 20,700
01 A& Hl 60,700 40,000 20,700
S2HEFA CHUHAIE AX 40,000
MEZ=A 20 € 2T ME &X 13,700
22X LED NHEE HSHsH &
500,000& =144 7,000
ZAETZY 22| 5,000 5,000 0
< 5,000
401 Al B2 28I 5,000 5,000 0
< 5,000
01 A& HI 5,000 5,000 0
22 HE M & 5,000
< 5,000
CE2HEFAI|IE2E e ALY 6,967 7,325 A 358
308 XX EHH SOl A 6,967 7,325 A 358
11 SISO & X E AL HI 6,967 7,325 A 358
CEREFAIEE RA2L 6,967
SN EFHSEH X AL 30,760 30,760 0
< 9,200
Al 21,560
401 Al HI & 28I 30,760 30,760 0
= 9,200
Al 21,560
01 A& HI 30,760 30,760 0
SN EFHSE HEH & 30,760
< 9,200
Al 21,560
S2H=A OHUHAIE YRMEAL E FHbI 16,000 37,000 A 21,000
< 4,800
Al 11,200
201 L2l 16,000 37,000 A 21,000
< 4,800
Al 11,200
01 At 22l 16,000 37,000 A 21,000




N =)t
I 2 2e
cHel: =4 2ol o HE)
= - — SHE]|
CHB G (BN) - HRAMY - BES Ol &k o8 il HlnE2
SE2HEFA HHAIE 2HEAL 2 EI 16,000
4,800
11,200
HE2HAHI 89,400 98,960 A 9,560
Jl2Zl 89,400 98,960 A 9,560
JIE23l 89,400 98,960 A 9,560
201 LBH2E| 57,000 57,000 0
01 At 2t 2l 32,000 32,000 0
2 Bt=ZH| 27,000
= &l 5,000
=323l 25,000 25,000 0
=323 2 HAl 20,000
AM&ZEH KXY 5,000
(1] 20,000 25,000 25,000
1 =L dl 20,000 25,000 A5,000
2 gReFA 20,000
Q2= 5,400 5,460 A 60
FA2IHRFEHI 5,400 5,460 A 60
fNegYRET 5,400
THaESE S| 7,000 11,500 A 4,500
&Y =SS FHSHI 7,000 11,500 A 4,500
HHSEE ZEHDI 3,000
QIS AE ZelHD| 1,500
NHEEE WA 500
A=l ED| 2,000




